Ljungskile BK

Partavling HCP 2021-11-03

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac Par Poéng % Namn MID Klubb
1 3 163.5 68.11 Lena Sjogren - Kerstin Scherdin 50166 47932  Ljungskile BK
2 8 137.6 57.31 Kristina Egerstad - Thomas Egerstad 40037 39965 Ljungskile BK
3 1 134.9 56.22 Ulla Soderberg - Per Waborg 44005 33460 Ljungskile BK
4 2 134.9 56.21  Anne Marie Roos - Staffan Roos 40455 40456  Ljungskile BK
5 5 130.2 54.24 Claes Haglund - Else-Marie Johansson 40460 17725 Ljungskile BK
6 7 126.2 52.59 Sven Stalblad - Dana Stalblad 28851 87569  Ljungskile BK
7 10 116.1 48.40 Kristina Bergman - Eric Skoog 28393 59083 BK Viva
8 6 113.0 47.09 John Loewe - Jan Karlsson 48517 48514 Ljungskile BK
9 9 112.9 47.06  Ann Innocenti - Pege Schelander 48519 39895  Ljungskile BK
10 11 97.4 40.60 Karin Jansson - Kaj Jonsson 48515 48518  Ljungskile BK
11 12 88.4 36.85 Birgitta Jagdell - Annelie Hammar 29426 29425 Ljungskile BK
12 4 84.8 35.33 Ken Baard - Frejvid Utter 58466 58475 Ljungskile BK
1 4 Kn105 Basta kontrakt 2 4 E954 Basta kontrakt 3 493 Basta kontrakt
Nord v K765 3¢ O =-110 Ost v D63 4¢ O =-130 Syd v 10974 64 S D -6-1400
Ingen ¢ E NS +43 ov ¢ E72
#K10976 & ¢ v &N #DKn42 & ¢ v &N #DKn32 & ¢ v & NT
4 ED63 492 N7 3466 «KD 410862 N6 3665 4E1086 +4 N52161
vE3 v D9842 S7447°6 v Kn85 v K104 S 6 3665 vKn8653 v EKD2 S52161
+ KKn873 ¢ 962 06 9 86 6 + K10652 ¢ ED98 O6 107 7 8 + D8 ¢ KKn965 O 7 11127 11
«Kn4 *E32 V69866 2965 *E7 vV 6 107 7 8 #K10 *E65 V 7 10127 11
4 K874 4 Kn73 4 KDKn752
vKnl0 vE972 v-
+ D1054 ¢+ Kn7 + 1043
»D85 #K1083 #9874
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 11 INV-3 6 150 9.0 10 5 26 O+1 7 -110 100 00| 2 11 4v0O-1 4K 100 10.0 0.0
8 6 3NO-3 ¢4 150 9.0 2 11 3¢ O+1 vA -130 40 60| 8 6 34S-2 v3 -100 80 20
9 1 3v0-2 «5 100 6.0 4 3 20 0+2 v7 -130 40 6.0[(10 5 345S-3 v6 -150 6.0 4.0
7 12 14 S-1 v3 -50 4.0 7 12 26 O+2 43 -130 40 60 9 1 3vV+2 49 -200 40 6.0
10 5 2¢ V= L) -90 2.0 8 6 2¢ O+2 43 -130 40 60| 7 12 3vV+3 43 -230 20 8.0
4 3 2¢ V+1 &7 -110 0.0 9 1 34 0+1 3 -130 40 60| 4 3 4vV+2 &3 -680 0.0 10.0
4 874 Bésta kontrakt 5 & EKn65 Bésta kontrakt 6 & KKn742 Bésta kontrakt
Vast v EKKn82 5NT V =-660 Nord vE9732 2NT O =-120 Ost vE6 64 S =980
Alla ¢+ Kn84 NS + 10876 ov 41094
#95 CICR A »- & ¢ v &N *E74 & ¢ v & NT
4 E92 4KKn1053 N 1 4 4 1 « D92 4 K83 N547605 405 «D6 N 107 9 128
vD74 v 1065 S1441 v 64 v K105 S5466 4 vKn872  v543 S 107 9 128
¢ D65 ¢ EK 09681 ¢ Kn9543 ¢ EK2 07 956 8 ¢+ DKn862 ¢ E753 035212
#K1087 #ED6 V 109 9 1 *K94 #ED53 V89568 #95 #DKn108 V35212
4 D6 41074 4 E1083
v93 v DKn8 v KD109
¢ 109732 +D +K
#Kn432 #Kn108762 #K632
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 12 44 O-1 v3 100 10.0 3 11 3vO-5 ¢+Q 250 10.0 8 12 44 N+3 ¢3 510 10.0 0.0
10 6 34 0+1 3 -170 8.0 5 4 2NO-2 LN 100 8.0 1 7 44 N+2 &Q 480 6.0 4.0
3 11 44 0= v9 -620 5.0 8 12 INO= &T -90 6.0 3 11 44 N+2 &T 480 6.0 4.0
9 2 440= v9 -620 5.0 9 2 2NO+1 &7 -150 4.0 10 6 464 N+2 & 480 6.0 4.0
5 4 3NO+1 7 -630 2.0 1 7 3NO= *6 -400 1.0 5 4 44 N+1 ¢A 450 20 80
1 7 3NO+2 3 -660 0.0 10 6 3NO= LN -400 1.0 9 2 3aN+2 ¢3 200 0.0 10.0
7 4 86 Bésta kontrakt 8 s E2 Bésta kontrakt 9 49 Bésta kontrakt
Syd vE62 5NT S =660 Vast v EKKn97 6NT N =990 Nord v 387 3NTND-1-100
Alla + EKn1083 Ingen ¢ 75432 ov + EK98732
#KKn6 LI A *7 * 0 v oA «D72 & ¢ v & NT
& KD42 4 Kn1073 N 10115 6 4764  &Knl03 N 8 11121 4 K6542 4 Kn1073 N7 96 48
vKDKn954 7 S 10115 6 vD102 v 8643 S 8 11121 vKn92 vEK103 S7 96 438
+ D2 +974 03277 ¢KKn8 ¢10 05210 ¢DKn5 ¢6 06 379 3
a7 #D8432 V3277 K942 &DKn1085 V 5 2 1 0 #Kn8 #E1054 V647094
4 E95 4 KD985 ~ED8
v 1083 v5 v D654
+ K65 + ED96 + 104
#E1095 »E63 »K963
Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
10 7 3v V-3 48 300 10.0 1 12 3NS+2 &2 460 10.0 1 12 3NS= 44 400 10.0 0.0
11 4 1v V-2 ¢A 200 8.0 2 8 44 S= &2 420 7.0 9 3 4a4V-2 ¢+K 200 70 3.0
1 12 34S+1  ¢2 130 4.0 11 4 4vy N-= T 420 7.0 11 4 34 V-2 ¢A 200 70 3.0
2 8 3¢ N+1 w7 130 4.0 6 5 3NS= 2 400 3.0 10 7 3¢ N= vA 110 40 6.0
9 3 3¢ N+l v7 130 4.0 9 3 3NS-= 2 400 3.0 2 8 3NS-1 a4 -50 1.0 9.0
6 5 3vVv-1 48 100 0.0 10 7 3NS-1 *2 -50 0.0 6 5 3¢ N-1 vK -50 1.0 9.0
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10 D3 Basta kontrakt 11 4 K2 Basta kontrakt 12 4753 Basta kontrakt
Ost vKn 44 S =130 Syd v- 34 S =140 Vast v53 5NTV =-460
Alla + EKKNn1097 Ingen 498542 NS + ED1063
#DKn98 & ¢ v & NT #ED8653 & ¢ v & NT #K32 & ¢ v & NT
486542 #4109 N 109 6 8 7 4 865 # EKn N9 6598 4 EK10 49642 N26 222
v D86 v E97432 S 109 6 8 7 v D63 vKn98542 S 8 6 5 9 8 vD1086 vEK942 S26222
+ 862 ¢+ D43 033754 +KD763 ¢ E10 046845 + K5 *4 O 117 11118
*K7 &E5 V33754 *97 £K104 V46845 D975 #E108 vV 117 111111
& EKKn7 4 D109743 &« DKn8
v K105 v EK107 v Kn7
+5 ¢+ Kn + Kn9872
#106432 #Kn2 +Kn64
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
10 8 3NS+1 +8 630 100 00| 9 4 44 S-= ¢K 420 100 00| 3 1 4v0-1 *7 50 9.0 1.0
7 6 2NS+3 ¢2 210 80 20| 3 1 24S+2 +vQ 170 80 20| 9 4 4v0-1 aJ 50 9.0 1.0
3 1 3&S+1 vQ 130 60 40| 7 6 24S+1 v3 140 40 60| 7 6 4v V= &2 -420 40 6.0
11 5 3¢ N= «T 110 40 6.0[10 8 24 S+1 +¢6 140 40 60|10 8 4v0O= 48 -420 40 6.0
12 2 2v0-1 +5 100 20 80|11 5 24 S+1 ¥3 140 40 6.0(12 2 4vO= +8 -420 40 6.0
9 4 54S-1 v6 -100 0.0 100|122 2 1v O+2 ¢J -140 00 100|11 5 4vyO+1 2 -450 0.0 10.0
13 482 Basta kontrakt 14 4 K6 Basta kontrakt 15 4 E109872 Basta kontrakt
Nord v KKn9853 INT O =-2220 |Ost v EK73 6¢ SD-1-100 Syd vE8 5& V D -3 500
Alla + D2 Ingen + ED952 NS + EKn7
#KDKn & ¢ v & NT *62 & ¢ v & NT #Kn7 & ¢ v & NT
4 KKn10754 4 E9 N6 0300 4 Kn109854 & ED732 N 5 11102 9 « KD6 a4 N4 6 7 108
vD2 vE10764 S60300 v- vKn10962 S 5 11102 7 vD vKn10763 S 4 6 7 108
+ K8 ¢EKN9765 O 7 13101313 + 86 +3 07 13 114 + KD109 843 087534
#E43 »- V 6 12101213 #KDKn103 74 vV 713 114 #K10865 #D432 V876 34
« D63 a- & Kn53
v- v D854 v K9542
41043 + KKn1074 4652
#10987652 #E985 »E9
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 6 4¢ O= &8 -130 100 00| 9 5 5aV-1 vK 50 90 10| 9 5 44 N= *Q 620 10.0 0.0
8 7 44S-3 a4 -300 80 20|12 3 5a4V-1 ¢ A 50 90 10| 1 10 14 N+2 #Q 140 7.0 3.0
9 5 4e V= *Q -620 6.0 40| 8 7 5¢S-1 &K -50 6.0 40(11 6 24 N+1 #Q 140 70 3.0
1 10 44 V+2 &K -680 30 70| 1 10 44 0= &A -420 20 80| 8 7 24N= «0Q 110 40 6.0
4 2 464 V+2 v8 -680 30 70| 4 2 4eV= vA -420 20 80|12 3 14V+l ¢8 -90 20 8.0
12 3 464 V+3 ¢2 -710 00 10011 6 44 0= *4 -420 20 80| 4 2 44N-1 *Q -100 0.0 10.0
16 » K98532 Bésta kontrakt 17 » Kn10854 Bésta kontrakt 18 & D42 Bésta kontrakt
Vast v 87 3v V =-140 Nord v EKn97 54 N =450 Ost v EKD105 5¢ OD-3500
ov + KKn2 Ingen +6 NS + 86
#102 & ¢ v & NT *E97 & ¢ v & NT #KD5 & ¢ v & NT
4 E10764 &Kn N6 846 4 49 4« D63 N8 59 116 410876 45 N 7 5 101010
vD6 v EK9543 S 6846 4 v K103 v D64 S 85 9 116 v 762 v 84 S 7 5 101010
495 ¢ 1076 075978 ¢ KDKn9543 ¢ ES8 058325 ¢ EK ¢DKn107542 O 4 8 2 2 3
#ED53 #4864 V75978 D8 #Knl10432 V 5 8 4 2 5 #E1096 #Kn74 V58223
4D & EK72 & EKKn93
v Kn102 v 852 v Kn93
+ ED843 + 1072 +93
#KKn97 *K65 #832
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 10 24 V-2 ¢+K 200 90 10| 5 3 44 N= ¢A 420 1000 00| 1 8 4y N+2 &5 680 10.0 0.0
12 4 4v O-2 «Q 200 90 10| 7 11 3« N+1 ¢A 170 80 20| 7 11 3NN+2 ¢2 660 80 20
1 8 3¢ S= vQ 110 6.0 40 1 8 4¢DV-1 &»A 100 6.0 40| 2 10 44 S= ¢A 620 50 5.0
9 6 2v0-1 «Q 100 40 60| 9 6 3¢ V-1 +6 50 30 70| 9 6 44 S= 46 620 50 5.0
7 11 29 O= +Q -110 20 80|12 4 3NO-1 LY 50 30 70[12 4 29y N+2 7 170 20 8.0
5 3 30= +3 -140 0.0 10.0| 2 10 34 N-1 ¢ A -50 0.0 100| 5 3 24 S+1 ¢A 140 0.0 10.0
19 « K10874 Bésta kontrakt 20 87 Bésta kontrakt 21 41076 Bésta kontrakt
Syd vE5 4¢ S =130 Vast v Kn2 54 V =-650 Nord v ED92 3v N =140
oV + K9842 Alla + Kn8765 NS +98
&K & ¢ v & NT #9532 & ¢ v & NT #ED32 & ¢ v & NT
+D9 4 Kn632 N 4 106 8 8 «KKn32 4D1096 N3 5323 «Kn32 4K985 N85 9 6 8
vKn874 vKD2 S 4 106 8 8 vD5 vE9743 S35323 v 104 v K75 S85 96 8
¢ E75 ¢+ Kn 092745 + EK4 492 O 108 9 1110 ¢+ K654 ¢ D10732 0584765
#Kn1084 #E9762 V92745 #EKKN8 %64 vV 108 9 1110 #K1085 #Kn V58475
s E5 « E54 «ED4
v 10963 v K1086 v Kn863
+D1063 + D103 + EKn
#D53 «D107 #9764
Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
3 10 2¢ S+2 & 130 90 10| 6 4 4v0-1 45 100 100 0.0| 3 10 3v S= ¢+K 140 9.0 1.0
6 4 2¢ N+2 #A 130 90 10| 8 11 44 V= v] -620 80 20| 8 11 3vS= &5 140 9.0 1.0
2 1 24 N= ¢J 110 40 60| 2 1 3NV+l 5 -630 50 50| 6 4 24N+1 45 110 50 5.0
8 11 3¢ S= &4 110 40 60| 9 7 3NV+1l +6 -630 50 50[|12 5 2vS= &5 110 50 5.0
9 7 24 N-= ¢J 110 40 60| 3 10 44 V+1l vJ -650 1.0 90| 2 1 INS= &5 90 20 8.0
12 5 240= s A -90 0.0 100|12 5 44 V+l vJ -650 1.0 90| 9 7 4vyN-1 &J -100 0.0 10.0
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22 41085 Basta kontrakt 23 & EKKn9 Basta kontrakt 24 4 Kn853 Basta kontrakt
Ost v EKn876 44 O =-130 Syd v EKn2 5v S =650 Vast v K9542 4v V =-420
ov 4983 Alla + E874 Ingen + 1074
D10 & ¢ v & NT 92 & ¢ v & NT &D L Y
a72 & KDKn3 N3 86 43 «D107643 852 N6 11117 8 4 K10 & E42 N2 536
v K95 v D103 S386 43 v10 v 986 S 6 11117 8 v DKn6 vE1083 S2536
+K + D105 O 105 7 8 8 ¢ Kn3 + D10 O70060 4632 ¢ EK5 O 108 107
&#EKN97643 #K82 V 105 7 8 8 &D1084 &#EK753 V70060 #E10972 %843 V 108 107
4 E964 a- 4 D976
v42 v KD7543 v7
¢ EKn7642 + K9652 + DKn98
&5 #Kn6 #KKn65
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
1 11 4a V= +9 -130 90 10| 1 11 3NS+4 a3 720 100 00| 3 2 3NO-3 46 150 10.0
6 12 3« O0O+1 +¢A -130 90 10| 9 8 4v S+3 46 710 80 20| 1 11 24V +1 v5 -110 8.0
3 2 3eV+2 vJ -150 50 50| 3 2 4v S+l &Q 650 50 50| 6 12 INV+2 v4 -150 5.0
4 10 3%V +2 v8 -150 50 50| 6 12 4v S+1 46 650 50 50 7 5 2NO+1 &5 -150 5.0
9 8 3NV+1 v7 -630 20 80| 7 5 2vS+4 &4 230 20 80| 9 8 3NV= v4 -400 2.0
7 5 3NO+2 ¢2 -660 0.0 100| 4 10 24 V-2 v2 200 0.0 100 4 10 3NO+1 %6 -430 00 1
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